‘@ 7




A|] M196-REG3D2L2S/19/11 3064--03 2116

M T

I

I

A B C (mm) D

y 1 [m196-0001 | 348 | 348 | 33

= // // 2 | m196-0002 | 1433 348 | 33
— / 3 | m196-0003 | 1433 294 | 33
D 4 |m196-1003 [ 1800 382 | 213
(= 5 |m196-1004 [ 1809 382 | 23

6 | Mm196-1005 | 1809 | 362 | 3/3

7 | m196-2003 J 1093 ] 400 | 1/3

/// o6 /// " 8 | m196-2004 1073 387 | 13

[[:I 9 | M196-3001 | 724 | 340 2/3
10 |m196-3002 | 723 [ 340 | 213

11 |m196-3003 | 724 | 362 | 13

e =&l 12 |m196-3004 | 300 | 340 | 23
13 |m196-3005 | 300 | 362 | 1/3

// // 14 |M196-3006 | 299 | 340 | 1/3

/ / 15 | m196-5501 | 347 | 33 313

16 |M196-5502 [ 1432 33 33

| 17 [ m196-9001 | 1819 ] 315 2/3

o == o e | 18 |m196-9301 [1819 735 | 273

—— F ) — 6|l = ° 19 | s248-0009 | 163 | 204 | 113
@10mm e 20 | s248-4003 | 300 | 60 1/3
@5 mm l & 21 | wsk3-503 [ 300 | 120 1/3
22 | wsk3504 [ 300 [ 120 [ 13

\&/GJ 23 | wsP-9090 | 265 | 298 [ 173

24 | WTR-5026 | 255 | 120 | 173

22X 4X 8X 7X A

28x30 mm f1 28x50 mm f6 26,5x40 mm f25 M4x22 mm

8X ﬁ
K16; ¢35 a 1

20x

8X 2X 2X 3X 16x
& FO @7 "
b59 & U ca46 €447 d1

B5x17 mm

% 12x 4X @@@ 10)5&@@ 26x 12X @ 24x% 24x 4;%9 8X
L=300 mm mé6 A r1 r110

o
20x13x3 5\ n1 08 23,5x13 mm p27 23,5x16 mm p38 @35x15 mm p51 22,9x16 mm p55 23,5x12mm p140 215x12 mm_#16 212x10,5 mm_#12 r1 5

B [14Xx 4X 4X 21X ~
<= O gl = | T N [ —
s2 582 Lo w166\1 2 = 17 38
swomsns__NTA\2| [g5060 mm p p3sxiemm P

w166\2 z1
P28-M196-REG3D2L25_19_11-M_IN16-A-KORO1 -1

210x50 mm ) f35




3/16

T, s

g

-

%

3064--03

A|] M196-REG3D2L2S/19/11

SV




A|] M196-REG3D2L2S/19/11 3064--03

w166\2 /ﬁ

f1

> 16X @

l13x %%
b59

23.5x12mm p 140

4X@

28x30 mm

2X Dy {8 [8X
(&¢ 3 =
f1 @15x12 mm_#16 ~ $5x17 mm d1

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



Al M196-REG3D2L2S/19/11 3064--03
6X g B|[2X
@ &%59 r 1

oesionn  P140

2x

28x30 mm @15x12 mm #16 r

4X@

28x30 mm f1

2x

215x12 mm_#16

e
b59

. ZXQE

PB5x17 mm d 1

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



Al M196-REG3D2L2S/19/11 3064--03
Ax D 2X
r1 mmo;mﬁﬂ 1

@15x12 mm #16
4X
rl m

23.5x13 mm

p27

1x

L=300 mm ms

4X (ﬁé

©15x12 mm #16

ZM
r110

e

28x50 mm f6
>
28x30 mm f1

4x

@15x12 mm_#16 r
ZM

r10
—

28x50 mm f6

IX o pe 2
e R
28x30 mm f1 215x12 mm_#16 r1 28x30 mm f1

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



A|] M196-REG3D2L2S/19/11 3064--03

28x30 mm f1

@15x12 mm #16

> r

r1@§

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



A|] M196-REG3D2L2S/19/11 3064--03 8/16

3 m m

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



A

M196-REG3D2L2S/19/11

3064--03

9/16

4

)

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



A

M196-REG3D2L2S/19/11

3064--03

)

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



M196-REG3D2L2S/19/11

3064--03

mABé
<A

S

©2,9x16 mm

T2%.

20x13x! 35\1 n108

6X
53,

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v




Al M196-REG3D2L2S/19/11 3064--03

1%

e W166\losszmn F

B ris
@12x10,5 mm_#1

,Mb
-REG3]




A|] M196-REG3D2L2S/19/11 3064--03 ‘ 13 /16

\YII) 7 S | e

23.5x16 mm p38

M4x22 mm

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



A|] M196-REG3D2L2S/19/11 3064--03

1 @
p51

4x

p51

23.5x15 mm

23.5x15 mm

> el

23.5x16 mm E38

4x

p51

™ s N
23.5x16 mm p38 K16; ¢35 a101 @3.5x15 mm p51

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v

©3,5x15 mm




M196-REG3D2L2S/19/11 3064--03

s82
320mm | 280mm
| 320mm
$82 — ——
|
i :::22;5 $82

b35

p51

|
|
|
|
|
|
|
|
|
@ | a43 a43
a43 I
|
|
|
|
|
|
|
|
|
|
|

©
(&)
=

L
®
)
"

b59
alol

a101 b59 |

3X
£ s
6X 4&“«9

23,5x15 mm

a43 b35 |

\\1 |

\5\

.
Fils)

alol

[\,

/
1V
|

]

v

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



16 /16

3064--03

/

alol

g
c447

U ca46

S
N

A 1x
j30 SJca45

M4x22 mm

5X

??Tﬂ) 5mm
O

A|] M196-REG3D2L2S/19/11

14x

216

R

|

|

[

|

|

N/

T

T

P28-M196-REG3D2L2S_19_11-M_IN16-A-KORO01 /v



A M196-PAN/4/13 3064--40 ‘ 216

A B C (mm) D
M196-3007 | 1300 | 264 1/1
M196-4301 | 1280 | 384 1/1

3X
210x50 mm ) f35

3X 1X N

1x / 1x g/ﬂ 1x / 38X @ 2X () (]
g50\1L g50\1P| g50M " j30 j4

M4x22 mm M4x40 mm 26x60 mm p75 Z1

SX@

@8x30 mm f1

R

@5x11 mm e4

B7x50 mm

P28-M196-PAN_4_13-M_IN16-A-KORO1 </



A M196-PAN/4/13 3064--40

6X

@5x11 mm

e4

3X @
28x30 mm f1

g50\1L

Z7x50 mm

P28-M196-PAN_4_13-M_IN16-A-KORO1 </



M196-PAN/4/13

3064--40

| e

2222222

1x /
g50\4

1x / 1x g/
g50\1L g50\1P|

i30

\

i30

6X " 3X
4
M4x22 mm j3o 949

P28-M196-PAN_4_13-M_IN16-A-KORO1 </



26x60 mm

p75

M196-PAN/4/13 3064--40
5 p75
. K] x
m > <
é!\ p75
: \ 35
. o
p;jg\\a
f35
ép P75 6 2 6
\ (35 4mm 1152mm Amm
’ g . . 1
?2 . 92 ©, :
. . . » .
3x

P28-M196-PAN_4_13-M_IN16-A-KORO1 </




M196-PAN/4/13 3064--40 6 /6




A M196-SFK5S/5/13 3064--61 2 /13

A B C (mm) D

1 M196-1009 | 354 | 382 2/2
2 M196-1010 | 354 | 382 2/2
3 M196-1011 | 169 | 362 1/2
4 M196-1012 | 354 | 362 1/2
5 M196-1013 | 354 | 362 1/2
6 M196-2007 § 1301 § 400 2/2
7 | M196-2008 | 1281 | 387 1/2
8 M196-3005 | 300 | 362 1/2
9 M196-3009 | 616 | 362 1/2
10 M196-4303 | 354 | 1248 1/2
11 M196-5701 | 648 | 390 2/2
12 S248-0009 | 163 | 294 2/2
13 S248-0016 | 163 | 610 1/2
14 WSK3-503 | 300 § 120 2/2
15 WSK3-504 | 300 § 120 2/2
16 WSP-9090 | 265 | 298 1/2
17 WSP-9091 | 581 | 298 1/2
18 WTR-5026 | 255 | 120 1/2
19 | wtr-5027 | 571 | 120 1/2

22X (\é

@15x12 mm #16 r1

©

5X 7X
=0 | 5
j30 k27

M4x22 mm

« L/
23,5x16 mm p25 23,5x12mm p 140

28x30 mm 28x50 mm f6 6,5x40 mm f25

1x 2X 2X ) () |128% AX 20x
g C445 ' 0446 C447 @7x50 mm e1 f1 4]

20X .p B [1x 10x 10x > |1x
(&6 _= 3
o120 mm 212 F15 18|20 W166\1|| s W166\2 z1

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



A M196-SFK5S/5/13 3064--61 ‘ 3/13




A M196-SFK5S/5/13 3064--61 4 /13

o

T

T
D
<</ feﬁ)\ 3

p140

p140 W166\2 rl

w166\2

4X@ 2x

28x30 mm f1 215x12 mm #16 r1

=|3x w0

23.5x12mm p 140

23,5x12mm p140 28x30 mm

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



A M196-SFK5S/5/13 3064--61

4X@ 2x

28x30 mm f1 215x12 mm #16 r1

23,5x12mm p 140

R (i

28x30 mm f1 @15x12 mm #16 r1

23.5x12mm p 140

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



A M196-SFK5S/5/13 3064--61

=8| [4X

@15x12 mm #16 r1

f1

28x50 mm

28x30 mm

‘4x @

1x

ZXQ 4x

28x30 mm f1 Z15x12 mm #16 r1

ZXQ

28x30 mm f1

4x

215x12 mm #16

r1

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



A M196-SFK5S/5/13 3064--61 ‘ 7113

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



A M196-SFK5S/5/13 3064--61 8/13

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



A M196-SFK5S/5/13 3064--61 9/13
i m

rl

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



M196-SFK5S/5/13

3064--61

10 /13

Y=~

((t
Z1 Z7x50 mm

el

7X
@ k27

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



M196-SFK5S/5/13

3064--61

‘ 11 /13

\\,

p17

N)

P28-M196-SFK5S_5_13-M_IN16-A-KORO1.clv/g



12 /13

--61

3064

M196-SFK5S/5/13

4X ‘j)
26.5x40 mm f25

A




13 /13

3064--61

A| M196-SFK5S/5/13




	Bonanza 30 64 DD 03 Garderobenschrank_groß
	Bonanza 30 64 DD 40 Garderobenpaneel
	Bonanza 30 64 DD 61 Bank_groß



